Events

FCCAnalyses: FCC-ee Simulation (Delphes)

1020 _J 1T T 1 | 1T 1T 1 | 1T 1T 1 | 1T 1T 1 | 1T 1T 1 | 1T 1T 1 I__
| Vs =240 GeV, L=10.8 ab™ ]
107 ee” - ZH,Z ~qq. H - 11, —
1016 i No additional selection E
10 | _
C —— Z(qQ)H(tT) CIwWw Lz -QQ ]

12 B zz [Cle'e- vy, Z —
107 = Z(HH() [ Z(TOH(TT) B ZODHQQ)
100 [ Z(11)H(g9) B Z(tT)H(VV) =
107 & B ZWW)HQQ)  [JZ(W)H(VV) =
ol 3 Z(IhH(QQ) 1 Z(IhH(g9) —

10° = [ 1Z(INH(VV) B Z(qg)H(QQ) —
o 1 Z(q@)H(VV) =

10" = —
10* & =

|
-3 -2 -1 0 1 2 3
Reco electron ¢



	Contents
	Page 1


